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Solved Examples

1. Find zeroes of the polynormial z% — 3z + 2

and verify the relation between its zeroes and


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_0NOaoMLRa6iW

coefficients.

o Watch Video Solution

2. Find zeroes of the polynormial
22> — bz + 2 and verify the relation between

zeroes and coefficients.

o Watch Video Solution

3. Find zeroes of the polynormial

6z> — 3 — 7z and verify the relation between


https://dl.doubtnut.com/l/_0NOaoMLRa6iW
https://dl.doubtnut.com/l/_PWIeeUlLnROD
https://dl.doubtnut.com/l/_RYPIc8la222U

zeroes and coefficients.

o Watch Video Solution

4, Find zeroes of the quadratic
V3z? — 8z 4+ 4/3 and verify the relation

between the zeroes and coefficients.

o Watch Video Solution

5. Find zeroes of the polynomial z* — 4 and

verify the relation between zeroes and


https://dl.doubtnut.com/l/_RYPIc8la222U
https://dl.doubtnut.com/l/_UlRZXHplPzCs
https://dl.doubtnut.com/l/_yj0trSfwjMhW

coefficients.

o Watch Video Solution

6. Find zeroes of the polynormial z? — 3 and
verify the relation between zeroes and

coefficients.

o Watch Video Solution

7. Find zeroes of the polynomial 2¢* + 3t and

verify the relation between zeroes and


https://dl.doubtnut.com/l/_yj0trSfwjMhW
https://dl.doubtnut.com/l/_9Rk4APKZ9acj
https://dl.doubtnut.com/l/_5MDXWauvFW8S

coefficients.

o Watch Video Solution

8. Find a quadratic polynomial, the sum of
whose zeroes is 5 and their product is 6.

Hence, find zeroes of the polynomial.

o Watch Video Solution

9. Find a quadratic polynomial whose zeroes

are -2 and 5. Hence, verify the relation between


https://dl.doubtnut.com/l/_5MDXWauvFW8S
https://dl.doubtnut.com/l/_89fadTBOWtIK
https://dl.doubtnut.com/l/_b1ji7C9ByUXc

zeroes and coefficients of the polynomial.

o Watch Video Solution

10. If the product of zeroes of the polynomial

(ax2 — 6x — 6) is 4, find the value of a.

° Watch Video Solution

M If z = 3 and x=-3 are zeroes of the

quadratic polynomial ax? + 7z + b, then find

the values of a and b.


https://dl.doubtnut.com/l/_b1ji7C9ByUXc
https://dl.doubtnut.com/l/_ZxxmGHRS5F8X
https://dl.doubtnut.com/l/_uGEBpC8ydk1B

° Watch Video Solution

12 If one zero of the polynomial
(a2 —|—9)CB2 + 13z + 6a is reciprocal of the

other, find the value of a.

° Watch Video Solution

13. Verify that 1,2,3 are the zeroes of the cubic

polynomial


https://dl.doubtnut.com/l/_uGEBpC8ydk1B
https://dl.doubtnut.com/l/_bcU56wJbJkhS
https://dl.doubtnut.com/l/_wQSA9QzmXJZR

p(x) = 3 — 62> + 11z — 6 and verify the

relation between its zeroes and coefficients.

° Watch Video Solution

14. Find a cubic polynomial whose zeroes are

1 3 42
5> — g and2

o Watch Video Solution

15. Divide 22 +  — 5 by x+2 and verify the

division algorithm.


https://dl.doubtnut.com/l/_wQSA9QzmXJZR
https://dl.doubtnut.com/l/_U5yR0OaIhT3q
https://dl.doubtnut.com/l/_Pa1cPJMYsmkn

° Watch Video Solution

16.Divide 42> — 112 + 7z — 2by 1 + = — z°
and verify the division algorithm.

Note

Always write the divided and divisor in
standard form i.e, decreasing order of the

variable.

o Watch Video Solution



https://dl.doubtnut.com/l/_Pa1cPJMYsmkn
https://dl.doubtnut.com/l/_h7CwZmh1BZRk

17. On dividing (:133 —3z? +x + 2) by a
polynomial g(x), the quotient and remainder

are (x-2) and (-2x+4) respectively. Find g(x).

o Watch Video Solution

18. If the polynomial
(:134 + 22° + 82* + 12z + 18) is divided by
another polynomial (:c2 + 5), the remainder
comes out to be (px+q). Find the values of p

and q.

| & I


https://dl.doubtnut.com/l/_HdLgIrVNm9Fg
https://dl.doubtnut.com/l/_QYD330hKw9XG

| ¥ Watch Video Solution |

19. What real number should be subtracted
from the polynomial (3:133 + 10z — 14z + 9)

so that (3x-2) divides it exactly?

o Watch Video Solution

20. If 2 is a zero of the polynomial

3 — 222 — x + 2, then find its other zeroes.

o Watch Video Solution



https://dl.doubtnut.com/l/_QYD330hKw9XG
https://dl.doubtnut.com/l/_hrPWE9hMZPq5
https://dl.doubtnut.com/l/_kPH2qeUMfLqI

21. If 1 and -1 are zeroes of the polynomial
3 + 522 — x — 5, then find all zeroes of the

given polynomial.

o Watch Video Solution

22. Obtian all other zeroes of
(:134 + 4z3 — 222 — 20z — 15) if two of its

zeroes are *.' y/band —,/5.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q2g73Z3AWVfH
https://dl.doubtnut.com/l/_SaRGBq3P0dGm
https://dl.doubtnut.com/l/_hldHu4k5ZvFy

23. If sum of zeroes of a polynomial
=a+ P = —8 and product of =zeroes
= aff = 6, then form a polynomial whose

zeroes are (o — B) and (a + ).

o Watch Video Solution

24. If a, By are zeroes of cubic polynomial

a33+5x—2, then find the value of

a3+ﬁ3+’)’3-

A 2


https://dl.doubtnut.com/l/_hldHu4k5ZvFy
https://dl.doubtnut.com/l/_Zw7lMj2SvIar

B.3

C.6

D. None

Answer: C

o Watch Video Solution

25. If the polynomial
z? — 62% + 162® — 252 + 10 is divided by

another polynomial z? —2z +k , the


https://dl.doubtnut.com/l/_Zw7lMj2SvIar
https://dl.doubtnut.com/l/_l6PnixI8jvd2

remainder copies out to be x\ +\ a.find k

and a.

° Watch Video Solution

26. If a*—2a—3 is a factor of
a* + pa® + qa® + 12a — 9, find the value of

p® — 2 — 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_l6PnixI8jvd2
https://dl.doubtnut.com/l/_l4UmOJxnuBZH

27. If one zero of a quadratic polynomial p(x)
= az’® 4 bz + c is square of the other, then

give the relation in a, b and c.

o Watch Video Solution

28. If a and B are zeroes of the quadratic

polynomial f(x) = 322 — 5z — 2, then find the

value of (C; + 5&2) +6(a+1)(8+1).

° Watch Video Solution



https://dl.doubtnut.com/l/_txGK1LBnxnNn
https://dl.doubtnut.com/l/_Aw3h5ZNTCijB
https://dl.doubtnut.com/l/_flVrERJoYQLc

29. Find the maximum and minimum value of

the polynomial f(x) = — 2% + = + 2.

o Watch Video Solution

30. If o and B are zeroes of the quadratic
polynomial 2z + 2(a + b)z + a® + b?, form
the quadratic polynomial whose zeroes are

(a+B)%

o Watch Video Solution



https://dl.doubtnut.com/l/_flVrERJoYQLc
https://dl.doubtnut.com/l/_rxzB8Z28FDTK
https://dl.doubtnut.com/l/_XqpjHba89BvV

31. If a,B are zeroes of polynomial f(x)

= z? — p(z + 1) — ¢, then find the value of

(o +1)(8 +1).

o Watch Video Solution

32.If a, B gamma are the zeroes of polynomial
f(x) = (z — 1)(z* + = + 3), then find the

value of a® + B° + ~°.

o Watch Video Solution



https://dl.doubtnut.com/l/_XqpjHba89BvV
https://dl.doubtnut.com/l/_OQddfobmbKqZ

33. Amitabh own a garden.In the garden, the
number of mango trees is equal to number of
mangoes per tree and the cost price per
mango is the same as the number of mango
trees in the garden. The maintenance cost is ¥
860 per tree. If Amitabh sells one mango at ?
61, the overall loss in the business is ¥ 800.
Find the number of mangoes in the garden, if
no mangoes were wasted and the number of

trees were more than 30.

o Watch Video Solution



https://dl.doubtnut.com/l/_s4Xff3GENys5

34. Find zeroes of the polynomial p(x)=
x5 — 9z® 4 26z — 24, if it is given that the

product of its two zeroes is 8.

o Watch Video Solution

35. Find the common zeroes of the
polynomialsz® + z? — 2z — 2 and

333—:1:2—2zc+2.

o Watch Video Solution



https://dl.doubtnut.com/l/_tg5go5OyONki
https://dl.doubtnut.com/l/_VBuR9MMj011s

Problems From Ncert Exemplar

1. Find zeroes of the polynomial 5t* + 12z + 7
by factorisation mothod and verify the
relation between zeroes and coefficients of

the polynomial.

o Watch Video Solution

2. Given that zeroes of cubic polynomial
z° — 62> + 10 are of the form a,a+b,a+2b for

some real numbers a and b, find the values of


https://dl.doubtnut.com/l/_OuuhlmmWI65O
https://dl.doubtnut.com/l/_a7OJM9EZb95X

a and b as well as zeroes of the given

polynomial.

° Watch Video Solution

3. Given that /2 is a zero of a polynomial
62> + /222 — 10z — 44/2, find the other two

Zeroes.

° Watch Video Solution



https://dl.doubtnut.com/l/_a7OJM9EZb95X
https://dl.doubtnut.com/l/_TTWRX3TvopTv

4. Find k so that 2 + 2z + k is a factor of
2 + 2% — 142> + 52 + 6. Also find all

zeroes of two polynomials.

o Watch Video Solution

5. For which values of a and b are zeroes of
q(X) = > +2r +a also zeroes of the
polynomial p(x)
= 2° — 2 — 423 + 32> + 3z + b2  Which

zeroes of p(x) are not zeroes of p(x)?

| & I


https://dl.doubtnut.com/l/_cFIsAO8H5JRh
https://dl.doubtnut.com/l/_lIfaPJUfFh2i

| ¥ Watch Video Solution |

6. Give example of polynomials p(x),g(x),q(x)
and r(x) which satisfy the division algorithm
and

(i) degp(x)=deg q(x)

(i) deg q(x)=deg r(x)

(iii) deg r(x)=0

° Watch Video Solution



https://dl.doubtnut.com/l/_lIfaPJUfFh2i
https://dl.doubtnut.com/l/_1EQ3mMjfSeBX

7. If one of the zeroes of the cubic polynomial

az® 4+ be® + cx + d is zero, the product of

the other two zeroes is :

o Watch Video Solution

8. The zeroes of the quadratic polynomial

2 + 99z + 127 are

A. both positive

B. both negative


https://dl.doubtnut.com/l/_KENQQg1DNZ1V
https://dl.doubtnut.com/l/_dVclVD8NShmX

C. one positive and one negative

D. both equal

Answer: B

o Watch Video Solution

9. If the zeroes of the quadratic az® + bz + ¢

where ¢ # 0, are equal then:

A. c and a have opposite signs

B. c and b have opposite signs


https://dl.doubtnut.com/l/_dVclVD8NShmX
https://dl.doubtnut.com/l/_RimYE5uhIjdv

C.c and a have same signs

D. c and b have same signs

Answer: C

o Watch Video Solution

10. Given that zeroes of cubic polynomial
23 — 622 + 10 are of the form a,a+b,a+2b for
some real numbers a and b, find the values of
a and b as well as zeroes of the given

polynomial.



https://dl.doubtnut.com/l/_RimYE5uhIjdv
https://dl.doubtnut.com/l/_DwqJwuLNjXre

\ ° Watch Video Solution

11. For which values of a and b, the zeroes of
q(z) = 2° + 22% + a are also the zeroes of
the polynomial
p(z) = 2° — 2* — 42> + 32> + 3z + b?

Which zeores of p(x) are not the zeroes of

p(z)?

o Watch Video Solution



https://dl.doubtnut.com/l/_DwqJwuLNjXre
https://dl.doubtnut.com/l/_zh5CiUMkUMte

1. find zeroes of the given quadratic
polynomials and verify the relation between
zeroes and coefficients :

2 + 9z + 20

o Watch Video Solution

2. From question number 1to 16, find zeroes of
the given quadratic polynomials and verify the
relation between zeroes and coefficients :

2+ 4z — 5

| & I


https://dl.doubtnut.com/l/_EYRECwBIvGbR
https://dl.doubtnut.com/l/_2tMRdVclHYSc

| ¥ Watch Video Solution |

3. Find zeroes of the given quadratic
polynomials and verify the relation between
zeroes and coefficients :

2 — 6z — 16

° Watch Video Solution

4. Find zeroes of the given quadratic

polynomials and verify the relation between


https://dl.doubtnut.com/l/_2tMRdVclHYSc
https://dl.doubtnut.com/l/_uBgTdnLP4Yv1
https://dl.doubtnut.com/l/_3nT5DNf6OBEn

zeroes and coefficients :

dz> — 4z — 3

° Watch Video Solution

5. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

222 — 15 — 11z

o Watch Video Solution



https://dl.doubtnut.com/l/_3nT5DNf6OBEn
https://dl.doubtnut.com/l/_bv7hFI6BjiPU

6. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

Az — 4z + 1

o Watch Video Solution

7. Find zeroes of the given quadratic
polynomials and verify the relation between
zeroes and coefficients :

6x> —x — 2

| & I


https://dl.doubtnut.com/l/_OvPHI7Vz66T9
https://dl.doubtnut.com/l/_TpRjMqEFuxZO

| ¥ Watch Video Solution |

8. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

z? 4+ 22z — 6

° Watch Video Solution

9. Find zeroes of the given quadratic

polynomials and verify the relation between


https://dl.doubtnut.com/l/_TpRjMqEFuxZO
https://dl.doubtnut.com/l/_GcVU3N4HyDnK
https://dl.doubtnut.com/l/_EI49HtnJyB3f

zeroes and coefficients :

V32?4 8z + 5,/3

° Watch Video Solution

10. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

422 — 5z + 1

o Watch Video Solution



https://dl.doubtnut.com/l/_EI49HtnJyB3f
https://dl.doubtnut.com/l/_vo3qo4Sw6tf5

1. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

2 -9

o Watch Video Solution

12. Find zeroes of the given quadratic
polynomials and verify the relation between

zeroes and coefficients :

)

| & I


https://dl.doubtnut.com/l/_9UocJri1mg2h
https://dl.doubtnut.com/l/_Iso5zmkv9mo8

| ¥ Watch Video Solution |

13. From question number 1 to 16, find zeroes
of the given quadratic polynomials and verify
the relation between zeroes and coefficients :

u? + 2u

o Watch Video Solution

14. From question number 1 to 16, find zeroes

of the given quadratic polynomials and verify


https://dl.doubtnut.com/l/_Iso5zmkv9mo8
https://dl.doubtnut.com/l/_yEc1gWOhbHPD
https://dl.doubtnut.com/l/_3PBPiYJ5wWTd

the relation between zeroes and coefficients :

3t? + b5t

° Watch Video Solution

15. From question number 1 to 16, find zeroes
of the given quadratic polynomials and verify
the relation between zeroes and coefficients :

6z> + bax — 622

o Watch Video Solution



https://dl.doubtnut.com/l/_3PBPiYJ5wWTd
https://dl.doubtnut.com/l/_45EdEt7ptmYI

16. find zeroes of the given quadratic
polynomials and verify the relation between
zeroes and coefficients :

a’z? — 11a’z +30a®* —a —1,a # 0

° Watch Video Solution

17. Find the quadratic polynomial, the sum of
whose zeroes is 17 and the product is 60.

Hence, find zeroes of the polynomial.

° Watch Video Solution



https://dl.doubtnut.com/l/_lwSF0P68cTek
https://dl.doubtnut.com/l/_JkCt6XzI4Li8

18. Find a quadratic polynomial, the sum of
whose zeroes is 7 and the product is -60.
Hence, verify the relation between zeroes and

coefficients of the polynomial.

o Watch Video Solution

19. If the product of zeroes of the polynomial

322 + 5z + k is 6, find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_JkCt6XzI4Li8
https://dl.doubtnut.com/l/_kSOmf78eYBeM
https://dl.doubtnut.com/l/_wO26XmpiQoxi

20. If the sum of zeroes of the polynomial

z? + 2kx — 12is 1, find the value of k.

° Watch Video Solution

2. If x = 3 and r = — 3 are the zeroes of

the polynomial az® — 7z + b, then find the

values of a and b.

° Watch Video Solution



https://dl.doubtnut.com/l/_GN0tYfSeJUQf
https://dl.doubtnut.com/l/_xi9Zd8bjGzqL

22. Find a quadratic polynomial, the sum of

5
whose zeroes is 3 and product is 2.

° Watch Video Solution

23. Find a quadratic polynomial, the sum of

3
whose zeroes is — 1 and product is 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_DPBVbiQLEtpc
https://dl.doubtnut.com/l/_D7sWoELtDigv

24. If a and B are the zeros of the polynomial

f(z) = 2z + bz + k satisfying the relation
5 5 21

a” + 87+ af = v , then find the value of k

for this to be possible.

o Watch Video Solution

25. If a and B are the zeros of the quadratic

polynomial f(z) =3z —4z +1 , find a

a2

quadratic polynomial whose zeros are 7 and
/82

(87

| e |


https://dl.doubtnut.com/l/_RCtHK41d980R
https://dl.doubtnut.com/l/_ztRhUaLnCocD

l & Watch Video Solution I

26. If o, are zeroes of the polynomial
z? — 2z — 15, then form a quadratic

polynomial whose zeroes are (2a) and (20).

o Watch Video Solution

27. If o and B are zeroes of a quadratic
polynomial az? + bz + c. Find the value of:
() o — B2

(ii) o + B3


https://dl.doubtnut.com/l/_ztRhUaLnCocD
https://dl.doubtnut.com/l/_JoBMhMSelGT2
https://dl.doubtnut.com/l/_JqTmF9O0eMlZ

(iii) o*B + B*a

(e 5m) ()

o Watch Video Solution

28. Which of the graphs given below
corresponds to linear polynomial or a

quadratic polynomial ? Also, find the number


https://dl.doubtnut.com/l/_JqTmF9O0eMlZ
https://dl.doubtnut.com/l/_jU1ILiPkEYhO

of zeroes of the polynomial in each case.

o Watch Video Solution

1. Verify that 1,-2,4 are zeroes of the cubic

polynomial z* — 3z — 6z + 8. Also verify the


https://dl.doubtnut.com/l/_jU1ILiPkEYhO
https://dl.doubtnut.com/l/_QLpLiiRHSr6e

relation between zeroes and coefficient of the

polynomial.

° Watch Video Solution

2. Verify that 1,2, and 1/2 are zeroes of
2z° + 2% — bz + 2. Also verify the
relationship between the zeroes and the

coefficients

o Watch Video Solution



https://dl.doubtnut.com/l/_QLpLiiRHSr6e
https://dl.doubtnut.com/l/_aSEG3hHxYGYA

3. Find a cubic polynomial whose zeroes are

5,6 and -4.

o Watch Video Solution

1

4. Find a cubic polynomial whose zeroes are 3

Jand -1.

o Watch Video Solution



https://dl.doubtnut.com/l/_a4jtX9W4dQns
https://dl.doubtnut.com/l/_dV34Imp7grie

5. Find the cubic polynomial with the sum, sum
of the products of its zeroes taken two at a
time and the product of its zeroes are 5, -6, 12

respectively.

o Watch Video Solution

6. Find the quotient and remainder in each of

the following and verify the division algorithm

(i) p(x) = x> —42? + 22 — 1 is divided by


https://dl.doubtnut.com/l/_OYtYOo7tv63T
https://dl.doubtnut.com/l/_JVCDHwEAWL01

g(x)=x+2.

(i) p(x) = z* + 222 — = + 1 is divided by g(x)
— 22 + 1.

iy px) =2z*—323+22+52—-3 s
divided by g(x) = z? + = — 1.

(iv) p(x) = z* — 522 + 6 is divided by g(x)=x+2.

° Watch Video Solution

7. By actual division show that x+2 is a factor

of z3 + 4z% + 3z — 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_JVCDHwEAWL01
https://dl.doubtnut.com/l/_2JtC0PMjqd68

8. On dividing 3z°> +2*+2x+6 by a
polynomial g(x), the quotient and remainder

are (3x-5) and (3x+21) respectively. Find g(x).

o Watch Video Solution

9. If 1 is a zero of the polynomial

3 — 42> — Tz + 10, find its other two zeroes.

° Watch Video Solution



https://dl.doubtnut.com/l/_2JtC0PMjqd68
https://dl.doubtnut.com/l/_LQvGwNjWBnaJ
https://dl.doubtnut.com/l/_6DwI9UlPVvcT
https://dl.doubtnut.com/l/_FIYvM7XcGNcb

10. If two zeroes of the polynomial
z* + 323 — 2022 — 6z + 36 are
V2 and —+/2 . find the other zeroes of

polynomial

o Watch Video Solution

1. Find all the zeros of the polynomial

x*4+x"3-34"2-4x+120,

° Watch Video Solution



https://dl.doubtnut.com/l/_FIYvM7XcGNcb
https://dl.doubtnut.com/l/_ELfAT0SUp4il

12. 13. find all zeroes of
2¢* — 3z — 32% + 6z — 2, if you know that

two of its zeroes are /2 and — (\/5)

o Watch Video Solution

13. Find all zeroes of the polynomial
2¢* — 9z2% + 52? + 3z — 1if two of its zeroes

are2 + ,/3and 2 — /3

o Watch Video Solution



https://dl.doubtnut.com/l/_cu59k25ubKyz
https://dl.doubtnut.com/l/_p5j2IJ5jEjQW
https://dl.doubtnut.com/l/_eD7uEEwODlLZ

14. Obtain all Zeros of

(3:134 — 1523 + 1322 + 252 — 30), if two of its

5 4 5
zeros areq [ 7 an 5

° Watch Video Solution

15. 012 if -5 and 7 are zeroes of

z* — 623 — 2622 + 138z — 35 find the other

Zeroes

° Watch Video Solution



https://dl.doubtnut.com/l/_eD7uEEwODlLZ
https://dl.doubtnut.com/l/_jSCWEOBVKPHo
https://dl.doubtnut.com/l/_zP1nT5RcfnAq

16. If the zeroes of the polynomial
3 — 3zt 4+ +1 are

a\ \ b\ a,\ a\ +\ b,findaandb.

° Watch Video Solution

17. Find zeroes of the polynomial f(x)
— z° — 132* + 32z — 60, if it is given that

the product of its two zeroes is 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_zP1nT5RcfnAq
https://dl.doubtnut.com/l/_PfOer3DMZUrx

18. What must be added to p(x)
— 4z* — 52% — 3922 — 462 — 2, so that the
resulting polynomial is divisible by g(x)

— 4% + Tx + 2?

o Watch Video Solution

19. What must be added to
11#° + 5t* + 6t° — 3t + t + 5, so that the
resulting polynomial is exactly divisible by

4 — 2t + 3t%?

| & I


https://dl.doubtnut.com/l/_ddQKpYNoilaC
https://dl.doubtnut.com/l/_WDLA7frqwDHj

| ¥ Watch Video Solution |

20. If «a,B,v are zeroes of polynomial
6x> + 32> — 5z + 1, then find the value of

Oé_l +/8_1 +’}’_1-

o Watch Video Solution

Revision Exercise Very Short Answer Questions

1. Find zeroes of the polynomialz? — =z — 2.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_WDLA7frqwDHj
https://dl.doubtnut.com/l/_Mcaa7NQE4fve
https://dl.doubtnut.com/l/_H2g6uVmB3maq

2. Find zeroes of the polynomial

2 +z —a(a+1).

o Watch Video Solution

3.1f one zero of the polynomial 2 + 5z + k is

2, find the value of k.

° Watch Video Solution



https://dl.doubtnut.com/l/_H2g6uVmB3maq
https://dl.doubtnut.com/l/_7X8rRW9daDvY
https://dl.doubtnut.com/l/_0T2oGaOcQsAc

4. If one zero of the polynomial kz® — 3z + k

is 1, find the value of k.

o Watch Video Solution

5.1f 3 is a zero of the polynomial 2z + z + k,

find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_EMFae9Lt5HMg
https://dl.doubtnut.com/l/_ibrwUHRzpaOE

6. If 1 is a zero of the polynomial

az® — 3(a — 1)z — 1,then find the value of a.

o Watch Video Solution

7. If -4 is a zero of the polynomial

z? — z — (2k + 2), then find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_diHeQQSgirxY
https://dl.doubtnut.com/l/_MjaCaQbKCUMZ

8. If the sum of zeroes of the polynomial

3z% — 2kx + 5is 4, then find the value of k.

° Watch Video Solution

9. If the product of zeroes of the polynomial

2 4+ 5z — kis 10, then find the value of k.

o Watch Video Solution



https://dl.doubtnut.com/l/_rBGaOAK52VT9
https://dl.doubtnut.com/l/_a1eJbj92Oxsm

10. If x+a is a factor of 222 + 2azx + 5z + 10,

find the value of a.

o Watch Video Solution

11. State division algorithm for polynomials.

o Watch Video Solution

Revision Exercise Short Answer Questions



https://dl.doubtnut.com/l/_wg7wik06Vw7Y
https://dl.doubtnut.com/l/_QPmASZn4Myvn

1.24/3z* — 5z + /3 Find roots.

o Watch Video Solution

2. Find zeroes of the polynomial 5z — 4 — 8z.

o Watch Video Solution

3.1f & and B are zeroes of > — 5z + 6, then

find the value of o? + 82

o Watch Video Solution



https://dl.doubtnut.com/l/_e3tPrAEmnt2J
https://dl.doubtnut.com/l/_X5h4bhYexlGw
https://dl.doubtnut.com/l/_K2cAg4fyuIE7

4.If o and B are zeroes of 522 — 7z + 1, then

1 1
find the value of — 4+ —.

a B

° Watch Video Solution

5.1f o and 8 are zeroes of 822 — 6z + 1, then

1 1
find the value of — + —.

a B

o Watch Video Solution



https://dl.doubtnut.com/l/_K2cAg4fyuIE7
https://dl.doubtnut.com/l/_pGoAutdReZBT
https://dl.doubtnut.com/l/_CqDezVYcV5of

6. If (a-b), a and (a+b) are zeroes of

21° — 122% + 5z — 1, then find the value of a.

o Watch Video Solution

7. If a and B are zeroes of the polynomial

322 + 6z +1, then find the value of

a+ B+ ap.

o Watch Video Solution



https://dl.doubtnut.com/l/_WCoPNol0weih
https://dl.doubtnut.com/l/_TlK7JWSVs40B

8 Find zeroes of the polynomial

z? — 2z — 12.

o Watch Video Solution

Revision Exercise Long Answer Questions

1. Divide z* + 52 — z? + 4z — 3 by x2 and

verify the division algorithm.

° Watch Video Solution



https://dl.doubtnut.com/l/_fErA8yTNCuN3
https://dl.doubtnut.com/l/_Kp0o8KSVvTVo
https://dl.doubtnut.com/l/_9iU9QTx2tssK

2. Find the quadratic polynomial whose zeroes

1

are — = and 5 Verify the relation between

coefficients and zeroes of the polynomial.

° Watch Video Solution

3. obtain all the zeroes of

3z* + 623 — 222 — 10z — 5 if two of its

5 5
zeroes are 4 [ = an 3

o Watch Video Solution



https://dl.doubtnut.com/l/_9iU9QTx2tssK
https://dl.doubtnut.com/l/_2KIhuLotiq4H
https://dl.doubtnut.com/l/_lg3mtkCFHWJt

4, Find all zeroes of
x2x* — 32° — 5z? + 9z — 3, it being given

that two of its zeroes are v/3 and — /3.

o Watch Video Solution



https://dl.doubtnut.com/l/_lg3mtkCFHWJt

